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Statistical tabies
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Chi square table
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T-tables
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icance.

at the p = 0.05 level of significance.

f

‘for use with ANOVA)

0.01 level of signit

1. Obtain your F-ratio. This has (x,y) degrees of freedom associated with it.
e level

~

1on (
tical values o

istribut
cri

ith (2. 24) degrees of freedom.
ifican

b W

7 sign

rin an F ratio of 3.9
I go along 2 columns and down 24 rows. The critical value of F is 3.40. tly obtained F-tatio

al values for the F d

C

St ¢
21 obt

jer than this, and so | conclude that my obtained F-ratio is likely to occur by chance with a p<.0

al values of F for the 0.0

larg
ritic,

Table of
C

3. 1t your obtained value of F is equal to or larger than this critical F-value. then your result is

2. Go along x columns, and down y rows. The point of intersection is your critical F-ratio.
significant at that level of probability.

There are two tables here. The first one gives
The second table gives critical values of F at the p

How to use this table
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